BERIGEER

FE 4 I—RBX B H23 H24 H25 H26 H27 H28 H29 H30
REF R EHRER R G — 78 (RBE) 1 1 2
NERE VT ETESRREST 28 23 13 14 21 16 19 15
[HEERNE L — — 9 10 17 11 19 13
BEXREFH BT 77 56 46 37 46 40 42 46
(H29FETIIRBHE BYEEBER) T—RAXRIyYRE 42 31 21 23 28 29 23 25
MIRHBEZHE REL 109 130 126 115 106 113 131 136
hHE R —fE 106 129 123 114 107 113 136 136
AE=ME RS — 1 (i) 8 5 2 2 1 2 4 2
BER FEEREE —E (B ) 9 11 7 3 4 5 4 4
BREEELT2ME 18 12 7 5 6 4 6 3
XAk F ¥XB 19 12 9 12 15 7 12 18
HEHEFE 15 3 13 4 11 4 6 11
aE 23 13 17 10 12 17 17 11
BRI A

BERIEEN
FEA O—XR-HIK =t H23 H24 H25 H26 H27 H28 H29 H30
REF R EHRER PR T (RE) 0.0 0.0 0.0 0.0 0.0 6.2 5.2 13.3
NER B VITEETHERIEET 90.3 88.4 100.0 100.0 100.0 100.0 100.0 100.0
IHERANIEL — — 69.2 71.4 80.9 68.7 100.0 86.7
BEXEFH EXET 87.5 94.9 95.8 82.2 92.0 90.9 100.0 90.2
(H29FETIIRBE BYEREER) T—FRAXRIyYRE 47.7 52.5 43.7 51.1 56.0 65.9 54.7 49.0
HRHBEZHE ®RETL 93.1 96.2 96.9 95.8 97.2 97.4 92.2 97.1
SR — 18 90.5 95.5 94.6 95.0 98.1 97.4 95.7 97.1
AE=ME R — 1 (3£ 33.3 33.3 16.6 20.0 47 14.2 30.7 18.2
BER FEEREA —E () 39.1 61.1 70.0 375 57.1 71.4 40.0 50.0
BEEET2E 78.2 66.6 70.0 62.5 85.7 57.1 60.0 375
XALZEFE =B 63.3 57.1 62.8 54.5 83.3 36.8 52.1 69.2
HEHEEFE 50.0 14.2 61.9 18.1 61.1 21.0 26.0 42.3
= 76.6 61.9 80.9 45.4 66.6 89.4 73.9 42.3
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